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wlw_1llg alaedl
: jail ) g.ni -1
: gaall -
413,14 + 183 =596,14
: all -
596,14 - 472,45 = 123,69
syl -
745,18 x 67 = 49 927,06
: dowdll-

349,44 +52=6,72

seliall joyl Jlogiwb Wil Wwij agdl alac il i -2

75>75>075>5>22
’ ’ 77 100
:Jjial g vl -3
6 1 18 5 13
5 3 15 15 15
1+1_6+3_9_1
3 6 18 18 18 2
13 1 13
_ X —_= —
157 2 30 )
: dlwo -4

:90 (dh) w calndl glll
(1476 x100) + 6 = 24600 dh

: &yglholl 62aag)l will Jgai -1
17,5 dag 7,3 kg = 7,475 kg
3,2hm 70 m = 39 dam
0,6 dal 81,3 dm*=187,3 1
6,03 dam? 600 m?= 12,03 a
:aluno -2
:90 (cm?®) U adell pan
V=LxlIxh=24x8x5 =960cm?
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: 63° louwld aglj ouw) -1

63°

.0alh: locgi

: hem ojhd guo clin] -2

: uygaall Jilaill -3
A A
D’ D
/
\ /
0 B’ B c
: alwo -4

g0 (M) w &)l glaib
R=d+2=8+2=4m

1 (M?) u adall aalwo
S=RxRxn

S=4x4x3,14=50,24 m?
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